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Answers to Student Book text questions





Chapter 2.4
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1





0 (zero) in both cases.





2





It is a way of tracking the movement of electrons which are not fully attached to a


single atom.





3





a





b





c





d





P: –3, H: +1





Fe: +3, Cl: –1





Na: +1, S: –4, O: –2





Mn: +6, O: –2





4





Oxidation number of sodium changes from 0 to +1 so it is oxidised. Oxidation


number of oxygen changes from +1 to 0 so it is reduced.





Sodium is therefore the reducing agent and water the oxidising agent.





5





Cu(s) + 2AgNO3(aq)  2Ag(s) + Cu(NO3)2(aq)


Cu(s)  Cu2+(aq) + 2e–


Ag+(aq) + e–   Ag(s)





Copper is oxidised and silver is reduced.





6





Zn(s) + H2SO4(aq)  ZnSO4(aq) + H2(g)


Zn(s)  Zn2+(aq) + 2e–


2H+(aq) + 2e–   H2(g)


Zinc is oxidised and hydrogen ions are reduced.





7





It does not represent a redox reaction because there are no changes in oxidation


numbers.
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2–





–





1





MnO4    to MnO4  is an oxidation because the oxidation number goes from +6 to +7.





As the reaction continues, MnO4  becomes reduced (oxidation number ends at +4).





Fe2(SO4)3





–





2





3





a





b





c





d





e





I: –1 to –1. Neither oxidised nor reduced.





Zn: 0 to +2. Oxidised.





Hg: +2 to 0. Reduced.





Cu: +2 to +1. Reduced.





Fe: +2 to +3. Oxidised.
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2–





2–





–





1    2S2O3  (aq) + I2(g)  S4O6  (aq) + 2I  (s)


2    Br2(g) + 2Fe2+(aq)  2Br–(s) + 2Fe3+(aq)


3    Cu(s) + 2H2SO4(aq)  Cu2+(aq) + SO4  (aq) + 2H2O(l) + SO2(g)





2–
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